
790 ADVENTURE, orange - CKD 2025 <2025><BR><F9640Y1>
WIRING HARNESS

77506

Pos Part Number Description Additional Text Quantity

1 A61011475100 Main wiring harness 1.00

3 63711085000 Engine wiring harness 1.00

4 C90711058010 Protection cap starter relay 1.00

5 C66111058000 Starter relay 1.00

6 C0330001409100 RUBBER CABLE TIE 75MM 03 0.00

6 C90711093045 RUBBER CABLE TIE 45MM 03 0.00

7 C90711094000 BAR SPACER 4/7 BLACK 2.00

8 61111057000 RELAY CM1A-R-12V-H80 07 5.00

9 C90011076140 CABLE TIE 140/2,5MM BLACK 0.00

9 C90711076250 CABLE TIE 250/4,8MM BLACK 0.00

10 C90711109030 FUSE 30 A 1.00

11 C61111018100 TEMPERATURE SENSOR 1.00

12 C64111059020 Clip cable tie 1.00

13 C76011060100 Gleichstromhorn 12V 1.00

14 C61011083000 Connector support front 1.00

15 C0000250602000 HH collar screw M6x20 TX30 2.00

16 60311034000 VOLTAGE REGULATOR 1.00

17 C0900000501400 Oval head screw m5x14 tx25 2.00



19 60711042000 Power socket 12V 1.00

20 C60311042050 Lid 12V-socket 1.00

21 C61011083050 plug board front 1.00

22 C61011034010 cable bracket voltage regulato 1.00

23 C0073800600800 AH OVAL SCREW ISO 7380 M 6X8 2.00

24 96314086000 UNIT CONNECTIVITY 1.00

25 C66114086010 Bccu holder 1.00

26 69008121160 Special screw M5x12 2.00

27 C66111075020 Adaptercable bCCU 1.00


